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Ecx)

c=1;
x=0:0.02:L;
%%%%%%%
t=.2;
f=sin(pi*x/L);
fcm=sin(pi*(x-c*t)/L); 02 /

fep=sin(pi*(x+c)/L): S

figure (1) ‘“-4';

hold on s , , , , , , , , , _
plot(x,f) 0 01 02 03 04 05 06 07 08 09 1
plot(x,fcm,'--)

plot(x,fcp,'+")
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da

clc
clear
| L=1,
c=1;
| x=0:0.02:L;
0.6 I t=0;
ol for i=1:200
' fcm=sin(pi*(x-c*t)/L);
0.2 ¢ fcp=sin(pi*(x+c*t)/L);
0 y=0.5*(fcp+fcm);
figure (1)
02 plot(x,y)
04t xlim([O L])
ylim([-1 1])
oer pause(.1)
0B t=t+0.02;
P L L L L ya end
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clc

clear

L=1;

c=1;

syms x nt

a=0.25;

b=.3;

m=Db/a;

y=0;

for n=1:20

Lan=n*pi/L,;
An=(2/L)*(int(m*(x-a)*sin(Lan*x),x,a,L/2)+int((b-m*(x-L/2))*sin(Lan*x),x,L/2,L/2+a));
yn=An*sin(Lan*x)*cos(c*Lan*t);
y=y+yn,

end

y=subs(y,t,0);

ezplot(y,[0 L])
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(4 sin(15 x =) (2"2 - 2))(375 #?) -...- (4 sin(19 x =) (3 2" + 6))/(1805 =?)
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for tt=0:0.02:2
yp=subs(y,t,tt);
figure (1)
% hold on
ezplot(yp,[0 L -b b])
title string
pause(.1)
end
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clc
clear
symsy x
n=1:m=2;
a=2;
b=1;
Lan=n*pi/a;
Gam=m*pi/b;
figure (1)

% fcontour(@(Xx,y) sin(Lan*x)*sin(Gam*y),[0 a 0 b],'Fill','on")
fsurf(@(x,y) sin(Lan*x)*sin(Gam*y),[0 a O b])

s
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Table of Fourier Cosine Transforms

flz) = \/gj(; Fe(f)(w) cos wz dw,

Fe(f)w) = f;(w) = \/%/0 flx) cos w der,

D<z l<w<m
1 if0<z<a \/Esinuw
0 otherwise e
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Convolution
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Dirac delta function
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Multiplication by z
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2: Fourier Cosine Transform
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